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UNIVERSITY OF NORTH BENGAL
B.A. Honours 5th Semester Examination, 2023

DSE-P1-PHILOSOPHY
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains DSE1A and DSE1B.
The candidates are required to answer any one from the two courses.
Candidates should mention it clearly on the Answer Book.

DSE1A
SECTION-1
1 Answer any four of the following: 3x4=12
(a) What are the basic characteristics of knowledge according to David Hume? 3
(b) How memory and experience are distinguished according to David Hume? 3
(c) What do you mean by Occasionalism? Why does Hume support Occasionalism? 1 %+1 %
(d) What are the relationships between cause and effect according to Hume? 3
(¢) What are the relationships between relations of ideas and matters of fact 3
according to Hume?
(f) Is Hume a radical skeptic? 3
SECTION-II
2 Answer any four questions: 6x4 =24
(a) Is metaphysies possible, according to Hume? Explain your answer. 6
(b) What is Laws of Association? Does Hume support Laws of Association? 343
(c) “Every idea is'a copy of impression”— Explain briefly that how does Hume 6
establishes this statement.
(d) What is knowledge according to Hume? Explain the distinction between 2+4
Demonstrative Knowledge and Intuitive Knowledge according to Hume.
(¢} Explain the nature of “IDEA” according to Hume.
() How does Hume refute abstract ideas? Explain your view. 6
SECTION-III
3. Explain any two questions from the following: 12x2 =24
(a) “Reason is, and ought to be the slave of the passions”— Explain in detail after Hume. 12
(b)  How does Hume establish his “theory of constant conjunctions” as a theory of 12

Causality? Discuss in detail.
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